DATA: 27/04/2021

1) Efetue :

a) (+ 3xy) — (-xy) + (xy) =
b) (+ 15x) — (-3x) — (+7X) + (-2x) =

2)

a)

b)

d)
f)

3)

Calcule os mondmios

a)

b)

2x+3x =

6y — 4y + 5y =
3a—-6a-a=
1/2ab — 3ab =
7b+4b—-6b=

Escreva uma expressao algebrica reduzida que represente o perimetro de cada

retangulo.
3x -2
x+4
X
yrx
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c) (-9y) —( +3y) - (+y) + (-2y) =
d) (3n) + (-8n) + (+4n) — (-5n) — (-n) =

g) 3Bxtx=

i) 8xy — 4xy + 4xy — 8xy =
i) X2+ 2/5 %% =

1) 3p-7p+18p =

Perimetro: ----------------

Perimetro: ==-——ceamcmacaes
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